I/IS CASE OWNE	ER KC CC 4/ ASM 1900	+358,	H pas / BAC	1126 97
Shreyef.	DOL ASSIGNM	2 (4/19	. /	5141.9
Prt-assign / CCI Insured Vehicle N Name of Insured Insured Tel No. Excess Sec II :SS Is driver the owne	S DOA: 24/4/19	Claim No. Policy No. Make / Model Place of Accid		OILOB
If NO, Driver No Driver Te	ime / Age:	OI GIA REPO	RT: Y / NO ; TP GIA F	REPORT: (E) / NO
SKO ZHI	14E			
Liability:	NSRS: WSP: Tel: Liability: RMKS:	INSRS: WSP: Tel: Liability: RMKS:		INSRS: WSP: Tel: Liability: RMKS:
Date/Time	f and the second			
	* to before the old order of the total	44 3-1418	Non-Reporting ltr (1st): Non-Reporting ltr (2sd): Non-Reporting ltr (Finst): Non-Reporting ltr (Finst):	DATE / PIC
	440 get I A: Big Claim		Call OI:	No- MIMIC-PHOO
			Documentation Cheek Lie	
	- CCTU IN VIOLED DrIVE ( SEE MYIN	NO)	Notification its (if non-picks	
	PIC VIVIAN		After call lir to OI:	4
	11. 11/11/0		Authorisation To Aut: Release Voucher:	
27/6/19	to request D/L a LOA	to UI	Final Repair Bill: Car Rental Invoice:	
1847/14	SEEK Nadoli VIA SMART.		Towing Involce	
	feel wadob va SMART.		LTA/GIA:	/
14/8/19	Mandan approve via smitht		Medical Bill: PIR: Mandate/Reject Instructio	0:
			LOD	
PRELIMINARY ADVICE	E Date/Time: Sent By:		Payment Breakdown Form Post-Repair Photos:	
			N. N. S.	
DESCRIPTION OF THE PROPERTY OF			Officent	
	Date/Time: Confirm with:		Offiers: Confirm by:	
Repair Cost:	SS ( - days) Reduction:	36.1	Confirm by: Email	Call
Repair Cost: FINAL SETTLEMENT	SS ( days) Reduction: Date/Time: 14 98119 Confirm with June Yel		Confirm by:  Email  Cull	Cnll
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost:	SS ( - days) Reduction:		Confirm by: Email	Cnli
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR):	SS		Confirm by:  Email  Cull	Call
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU);	SS		Confirm by:  Email  Cull	Call
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU); Loss of Income (LOI):	SS		Confirm by:  Email  Cull	Call
Repair Cose: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU); Loss of Income (LOI): LOR only LOU only	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Lin:	Call
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only HA/LTA Search	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Lin:	
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rennil (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only DIA/LTA Search viedical: Disbursement:	SS		Confirm by:  Email  Cull  If NO or B 28, Ass. Lin:  (b(8))  (b(8))  (b(8))	
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU); Loss of Income (LOI): LOR only LOU only DIA/LTA Search Medical: Dishursement: Logal Cost	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Lin:	
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only DIA/LTA Search Medical: Dishursement; Logal Cost Fotal:	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Liu:  (b(8))  (b(8))  (b) (c)  (b) (c)  (c)  (c)  (d)  (d)  (d)  (d)  (d)	
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only HA/LTA Search Medical: Dishursement; Logal Cost Fotal: FINAL PAYMENT	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Liu:  (b 8 1)  (b 8 1)  (c)  (c)  (d)  (d)  (d)  (d)  (d)  (e)  (e)  (e	eject/Private Sattle
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: Loss of Rental (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only DIA/LTA Search Viedical: Dishursement: Logal Cost Fotal: FINAL PAYMENT Payce 1:	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Lin:  (b 8 1)  (b 8 1)  (claim status Normal/R 2) Report Format: 3) Survey fee:	eject/Private Sattle
Repair Cost: Loss of Renni (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only HA/LTA Search Viedical: Dishursement: Logal Cost	SS		Confirm by:  Email  Call  If NO or B 28, Ass. Liu:  (b 8 1)  (b 8 1)  (c)  (c)  (d)  (d)  (d)  (d)  (d)  (e)  (e)  (e	eject/Private Sattle

# ASSIGNMENT

w)	Date: 26/4/19	Veh No. SICOSUITE.	Yr Rogn 2011 / Dec.
From: Estimated Cost:	Disc	Type: McCap/ M.Cycle / Bus / Van / Lore	y / Taxi / Prime Mover /
	OD RES / EVA / INV / MV	Truck / Trailer or	
To Inspect Vehicle No:	SKD 5414E	Make: Toyota Estima	A/C: Insured / Std / NI / NA
at Workshop m/s	the Mana Spray	colour while.	A/C: Insured / Std / NI / NA
of I kaki Re	tha Meng Sprny ukit Ave 6#01-61 Autobu	Sp.Reading (23739.	T/Radio: Insured / Std / NI / NA
Insured:	MAT NOT STATE	Eng/No:	
Policy No.		CINO: ACRSDO131	424 .
Claims No.		Gen. Cond. Bood/ Fair / Poor / Burnt	,
Sum Insured:	Excess:	Steering: Inorder/ Jammed / Leaked / I	Burnt or
(Client's Record)		Brake: (norder) Jammed / Leaked / 1	Burnt or
Make of Veh:		Modi: NII SIRIM I STD AIRIM or	
	N°.	Tyre Size: F: 2.55/3	1212. "
(Policy Condition)		R: 235 / 50	R18.
Remark: The veh had o	commenced its N/S O/S	BS DUN / EXNOVA / GY / FS / LIZA /	MIC / OHTSU / PIR / SUMI /
repair at the t	time of inspection.	TOYO / YOKO or	
Bal. or Market Value:		Front	Rear
IDAC Accident Rport:	Consistent? : Yes or No	R/Bal. 0.6 mm	R/Bal. 6 mm
GIA / PR Seen:	Consistent? : Yes or No	L/Bal 26 mm	L/Bal. 06 mm
Est. Repairs:	days Res.: Yes or No	D.O.A.	DOI 26/04/19.
Lum Sum:		Survey held at Hus N	tery.
		Des. of Damages : Frt / (Rear) / O/S /	N/S PU/C / Rooftop or
CA / REV / REP.	Vehicle: IN / OUT		
Date:	Person Contacted:	The U/C / Chassis frame / Body	Structure affected due to collision
THE STATE OF THE S	on / Instruction		
	PAKA.	Red \$ 20,523-70/55	*/ \
	( 5 3 4 10 100)	Ken 4 =01000 101 12	7- ]
MV	169.14		
7V	169,14 14151C		2
Nett	10 1 1 C		
	4		
Date/Time, File Pass to?	: Preli, Report	Days Of Repair:	
n	: Final Report	Resurvey No. of Trip:	Survey Fee:
Date/Time, File Return to?			Transportation:
2)	Add Fee	: Site Insp (\$	)S+R5S
		: Interview (\$	) Photos
Report Format :		: Tech. Invs (\$	) Others
Lump Sum / I.B.I:	(\$	: Weekend (\$	)
			TOTAL

# HUA MENG SPRAY PAINTING WORKSHOP

1, Kaki Bukit Avenue 6, Blk C #01-61 / 01-34, Singapore 417883 Autobay @ Kaki Bukit

Tel: 6747 8064, 6746 5519 / 9666 9680 Fax: 6743 4896

## **ESTIMATE**

THONG YAOCHANG DERRICK	TPAXA	Date	:09.05.2019
30 STURDEE ROAD		Vehicle No	:SKD 5414 E
#25-06	xiao Tony.	Make/Model	:TOYOTA ESTIMA
S 207852	4	Accident date	:24.04.2019

	S 207852	Accident date	:24.0	4.2019
No	DESCRIPTION	Qty		Amount (S\$)
	List Items			1,
1	Rear windscreen rubber NCC	1	\$	120.7
2	Rear tailgate Distorted	1	\$	1908.4
3	Rear taiglate hinges @ \$72.90	2	\$	145.8X
4	Rear taiglate shock absorber @ \$332.60 Beut	2	\$	665.2
5	Rear tailgate upper lock and	1	\$	477.4
6	Rear tailgate lower lock	1	\$	46.6
7	Rear tailgate inner board De	1	\$	629.5
8	Rear tailgate inner handle	1	\$	23.9 +
9	Rear tailgate centre reflector	1	\$	236.6
10	Rear tailgate side reflector @ \$236.70 Culled	2	\$	473.4
11	Rear tailgate centre logo **********************************	1	\$	88
	Rear tailgate handle Meeled	1	\$	206.2
13	Rear tailgate ESTIMA emblem	1	5	58.2
14	Rear tailgate AERAS emblem	1	\$	68
15	Rear tailgate weather strip	1	\$	429.9 277
	Rear tailgate Woper motor Down	1	\$	780
17	Rear end panel Distorted	1	\$	825.6 691
18	Rear end panel inner top garnish ?	1	\$	343.8
19	Rear end panel lower garnish	1	\$	232.6
20	Rear bumper Distatco	1	\$	715.1
21	Rear bumper side holder @ \$68.50 M	2	\$	137
22	Rear bumper reflector @ \$69.00 couled	2	\$	138
23	Rear bumper towing hook cover @ \$24.00	2	\$	48 44
24	Rear humper cline (1cet) DMA	1	\$	70 30
25	Rear bumper inner sponge @ \$84.20	2	\$	168.4
26	Rear tailgate centre lock sensor Downed	1	\$	176
27	Rear spare tyre top board Men	1	5	1299.4
28	Rear spare tyre well Rey	1	\$	967.1 ×
29	Rear spare tyre well insulation	1	\$	272.2
	Rear spare tyre trim +on	1	\$	485.9
31	Rear fender @ \$1026.00 Buckled	2	\$	2052
32	Rear fender inner garnish @ \$840.00	2	\$	1680 1486
33	Rear lamp @ \$393.60 Creeks	2	\$	787.2
34	Rear lamp housing @ \$340.00 Deuted	2	\$	680 546
35	Rear fender inner shield + or ~	1	\$	216
			- 20	

# **HUA MENG SPRAY PAINTING WORKSHOP**

1, Kaki Bukit Avenue 6, Blk C #01-61 / 01-34, Singapore 417883 Autobay @ Kaki Bukit

Tel: 6747 8064, 6746 5519 / 9666 9680 Fax: 6743 4896

## **ESTIMATE**

THONG YAOCHANG DERRICK 30 STURDEE ROAD #25-06

#25-06 \$ 207852 Date :09.05.2019 Vehicle No :SKD 5414 E

Make/Model :TOYOTA ESTIMA Accident date :24.04.2019

5 207852	852 Accident date		:24.04.2019		
lo DESCRIPTION	Qty		Amount (S\$)		
36 Rear RH fender quarter glass moulding	d 1	\$	(1068) 696		
37 Rear exhaust pipe Renes	1	\$	1440 +		
38 Rear exhaust pipe mounting xe ne	1	\$	54 ×		
39 Rear seat breacket @ \$114.00 3eut	2	\$	228		
40 Rear seat bracket top garnish @ \$102.00 >-	2	\$	204		
41 Rear seat rear garnish	1	\$	162		
42 Rear RH safety belt	1	\$	1107.2 + 6		
43 Rear air con blower caceled	20420-10 1	\$	3972 286		
14 Rear air con hose Delad		\$	225.6		
15 Rear RH inner fender	15315.07 1	\$	819.6 ×		
16 Rear RH chassis frame Pers	1	\$	2136 ×		
17 Rear tailgate top side rubber @ \$78.00 6	2	\$	156 *		
18 Rear tailgate side top stopper @ \$66.00	2	\$	132 *		
19 Rear tailgate lower side stopper @ \$66.00	2	\$	132		
50 Roof top moulding @ \$259.90	2	\$	519.8		
51 Rear windscreen @ \$1324.50 Shattered	2	\$	2649- 1824-		
2 Rear inner fender top side garnish @ \$275.00	12	\$	550		
53 Rear tailgate inner side garnish @ \$825.00	2	\$	1650 A14.		
4 Rear tailgate inner centre garnish 2	1	\$	302.5		
55 Rear tailgate third brake lamp	1	\$	258.5 +		
		\$	35418.3		
	Less 25% Disc	\$	8854.6		
	Total	\$	26563.7		
Special Nett Items					
1 Rear tailgate camera	¬C 1	\$	800 3\$0.		
2 Rear bumper reverse sensor	790 i	S	260-350		
3 Rear number plate Sct	1	S	50-50		
4 Rear number plate holder De de	1	\$	50-30		
	Total	Ś	1660		

# HUA MENG SPRAY PAINTING WORKSHOP

1, Kaki Bukit Avenue 6, Blk C #01-61 / 01-34, Singapore 417883 Autobay @ Kaki Bukit

Tel: 6747 8064, 6746 5519 / 9666 9680 Fax: 6743 4896

## **ESTIMATE**

THONG YAOCHANG DERRICK

**30 STURDEE ROAD** 

#25-06

S 207852

Date

:09.05.2019

Vehicle No

:SKD 5414 E

Make/Model

:TOYOTA ESTIMA

Accident date

:24.04.2019

No	Description	Qty		Amount (S\$)
	Labour Cost		7.4	
1	I. Towing fee		\$	150 120
2	2 To supply rear end panel inner sealant		\$	50
3	3 To supply rear windscreen sealant		\$	200 60
4	Remove & reinstall rear widnscreen & quarter glass		\$	500 240
5	Remove & reinstall roof lining & cushion		\$	400 300
6	Remove & reisntall reverse sensor		\$	250 600
7	Remove & reinstall camera		\$	100 50
8	Remove & reisntall petrol tank		\$	150-80
9	Remove & reinstall air con fill in gas		\$	200-123
10	Remove & reinstall safety belt		\$	100
11	Remove & reinstall exhaust pipe	110220	\$	200 ×
12	Remove ,replace & repair consistent to the accident	4700	\$	4000 2000
13	Respray painting		\$	2500 1600
14	Tuff kote		\$	150
15	To reset		\$	150 ×
		Total	\$	9100
		<b>Grand Total</b>	\$	37323.7

LKK Auto Consultants hence notify the Repairer of the following:

- . To resurvey before latter spray painting
- . To display damaged part(s) during resurvey
- . Parts prices are subject to confirmation
- . Third party survey is on a "Without Projudice" basis
- . No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from insurance Company

Acknowledged by Repairer

Signature:

Date:

tolen 21035 07

13 sands

168K

## > Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Манаса с Экана Вынасован	
Owner ID Type:	Singapore NRIC
Owner ID:	9043H
Valida Data January	PIONE AA AP
Vehicle No.:	SKD5414E
Vehicle to be Exported:	Yes
Intended Deregistration Date:	26 Apr 2019
Vehicle Make:	TOYOTA
Vehicle Model:	ESTIMA AERAS G-EDITION 2.4 A
Primary Colour:	White
Manufacturing Year:	2011
Engine No.:	2AZH741426
Chassis No.:	ACR500131424
Maximum Power Output:	125.0 kW (167 bhp)
Open Market Value:	\$41,984.00
Original Registration Date:	14 Dec 2011
First Registration Date:	14 Dec 2011
Transfer Count:	1
Actual ARF Paid:	\$41,984.00
Intended PARE Reports Details	
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	13 Dec 2021
PARF Rebate Amount:	\$25,190.00
Intended CGE Reparts Ograffs	
COE Expiry Date:	13 Dec 2021
COE Category:	E - Open Category
COE Period(Years):	10
QP Paid:	\$65,058.00
COE Rebate Amount:	\$16,722.00
Total Rebate Amount:	\$41,912.00

The information contained herein is correct as at 26 Apr 2019



Silve Sound

▼ Model

For old advertisements, view Expired adv

Home | New Cars | Used Cars | Sell My Car | Directory | Products | Insurance | Article | Forum | Resources

▼ Price ▼ C Depreciation ▼ C No Ont ▼ C Eng Cap ▼ C Mileage ▼ C Veh Type ▼

20 \* results/page

### Nivitha (LKK Auto)

From:

Mei Kwan (LKKAuto) <Meikwan@lkkauto.com>

Sent:

Thursday, 25 April 2019 4:13 PM

To:

assignments

Subject:

RE: Acknowledgement Your ref: SKD5414E

Our ref: S9M01LDBMC/CKC

5:31pm@ 25/4/19 June whicle In aways on 26/4/19

Hi team

Tp smart; kindly assist.

Thank you.

Best Regards,

Mei Kwan | Admin

LKK Auto Consultants Pte Ltd

Phone: 6366 0055 | email: MeiKwan@lkkauto.com | fax: 67414108 Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: VISHNU BATHAM Shekhar

Sent: Thursday, 25 April, 2019 10:05 AM To: Hua Meng <huameng@live.com.sg>

Subject: Acknowledgement Your ref: SKD5414E Our ref: S9M01LDBMC/CKC

Dear Sir.

#### Without Prejudice

We want to conduct a pre-repair survey of the damage to your client's/your customer's vehicle jointly with your client/your motor workshop. We propose to use one of the motor surveyors named in the attached list below to conduct the joint pre-repair survey as a Single Joint Expert.

List of our motor surveyors:-

- 1. Mohd Fadhilah Bin Osman/ Chris Ang (LBS Automotive Appraisal Pte Ltd)
- Stan See Chee Seng/ T. Thiyagarajan (LBS Automotive Appraisal Pte Ltd)
- Sebastian Kong Wei Siang (LBS Automotive Appraisal Pte Ltd)
- 4. Ricky Teng/ Elgene Teng (RT Appraisal Pte Ltd)
- 5. Michael Chong/ Elson Teng (RT Appraisal Pte Ltd)
- 6. Simon Ho/ Mohammed Rasul (LKK Auto Consultants Pte Ltd)
- Ma Chin Fook/ Adrian Ling/ Chua Weijie (LKK Auto Consultants Pte Ltd)
- 8. Kenneth Kong/ Marcus Chua/ Hendry Ng (LKK Auto Consultants Pte Ltd)
- Philip Phoong/ Victor Seng (A-Pac Adjuster & Surveyors Pte Ltd)
- 10. AXA in house surveyors

Please let us know within two (2) working days whether you agree to the appointment of any of these motor surveyors as a single joint expert. You may select one or more of the listed motor surveyors. We will bear the cost of the pre-repair survey carried out by the single joint expert. Meanwhile, please furnish us with estimate quotation in order for our surveyor to complete the pre repair survey.

If there be any injury claims by your client, please combine it in one Letter of Demand in light of one cause of action, save as to costs and expenses.

Regards, Shekhar Batham

AXA Singapore



From: Hua Meng [mailto:huameng@live.com.sg]

Sent: Wednesday, April 24, 2019 4:54 PM

To: SG AXA Insurance SM AXA SGP - Motor Survey < motor.survey@axa.com.sg>
Subject: PRS-AXA INSURED:XE 3528 P OUR REF:SKD 5414 E D.O.A:24.04.2019

Dear Sirs

Please refer the attachment for your necessary action and revert your surveyor name list to us urgently.

Your prompt reply will be appreciated by us.

Thanks & Regards June Hua Meng Spray Painting Workshop LKK AUTO CONSULTANTS PTE LTD (TP) \*



# Re:RE: TP MANDATE IA- S9M01LDB

Type

**Q** Question

Message

Proceed as proposed. Thanks

Reply





1, Kaki Bukit Avenue 6 Blk C #01-34/#01-61, Singapore 417883 Tel: 6747 8064, 6746 5519 Fax: 6743 4896 H/P: 9666 9680 Reg. No.: 254678/00M



Your Ref :

Our Ref :

Date: 29.05-2019

Attn: Motor Claims Dept

### ACCIDENT ON 24.04.2019 INVOLVING VEHICLE SKD 5414 E & XE 3528 P ALONG PIE TWDS TUAS (NEAR EXIT CTE)

With regards to the above, we are writing on behalf of the registered owner of vehicle SKD 5414 E which was involved in the above mentioned accident.

We are informed that the above accident was caused solely by the negligence of your insured vehicle XE 3528 P.As a result of the accident, our client's vehicle was damaged and our client had instructed us to submit his claims for loss and expenses, particulars of which are follows:

1) Repair cost		\$ 16,800.00
2) Loss of rental-\$200 X14 days		\$ 2800.00
3) LTA search		\$ 7.49
	Total	\$ 19,607,49

We hereby enclosed herewith the following documents for your consideration of the above claim.

a) Final Repair Bill Of SKD 5414 E

c) LTA SEARCH

b) GIA report

d) Owner / Driver NRIC & Driving License

TEL: 6747 8064, 6746 5519 FAX: 5743 48

Yours faithfully,

HUA MENG SPRAY PAINTING WORKSHOP



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 67414108

27 June, 2019

CHUAN LIM CONSTRUCTION PTE LTD 20 SENOKO DRIVE SINGAPORE 758207

Dear Sir/Mdm,

OUR REF : CC4/ASM19007358/Awa3

YOUR REF : XE 3528P

ACCIDENT INVOLVING XE3528P AND SKD5414E ALONG PIE KALLANG AREA

TOWARDS JURONG BEFORE CTE AMK EXIT ON 24/04/2019

We refer to the above subject matter. We write to inform you that we are the loss adjuster appointed by your motor insurer, AXA Insurance Pte Ltd to deal with the third party claim against your policy.

We have received a third-party claim(s) from **Hua Meng Spray Painting Workshop** acting on behalf of the owner of **SKD5414E** against your motor insurance policy.

Please be informed that your No Claim Discount (NCD) may be affected because of the claim against your policy.

As Insurers, they shall proceed to deal with the claim(s) subject to the merits of the case and according to the rights afforded under the policy. Should you not be seeking the protection of your policy and seek to take conduct of third-party claim(s) arising from this incident, at your own cost and defence, please reply to us <a href="within 7 days">within 7 days</a> from the date of this letter. Your intent must be formally expressed to AXA and acknowledged by AXA.

Your full co-operation in the handling of the claim is required and kindly submit the following to <a href="mailto:immychen@lkkauto.com">immychen@lkkauto.com</a> within 7 days from the date of this letter <a href="mailto:if not provided at our reporting centre">if not provided at our reporting centre</a>. The list below is not all inclusive and further document may be required:

- Police report, Police Investigation result, appeal against the Traffic Police offence and status (if any)
- Driver's driving license or foreign driving license (if any)
- Coloured photographs of accident scene (if any)
- Coloured photographs of damage to all vehicles involved (If any)
- · Copy of the letter of authorization
- Video footage of accident (if any)
- Statement and/or police report from independent witness(es) (if any)
- If you or your passenger(s) are filing a claim against any of the involved Third Party(s), you are to keep us informed of your legal representative(s) and the status of the claim.

To protect your interest(s) in the handling of this claim, please do not discuss liability with any of the Third Party(s) and/or their legal representatives or make any compromise or settlement without our prior knowledge and consent. If you receive any correspondence or legal document such as a Writ of Summons in connection with this accident, please forward it to us immediately. You may email it to <a href="mailto:cst@axa.com.sg">cst@axa.com.sg</a> or deliver it by hand to AXA Customer Care Centre.

This letter should **not** be regarded as a waiver by AXA of their rights to repudiate any claim because of any breach of policy terms and conditions you and/or your authorised driver may have committed.



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL.; (065) 62563561 FAX: (065) 67414108

In the event of receiving and handling of any third-party injury claim(s), we shall keep you informed of the final indemnity upon conclusion of the matter(s).

If you need any clarification, please do not hesitate to contact as at 6841 2928 or <a href="mailto:immychen@lkkauto.com">immychen@lkkauto.com</a>. Please quote our claim reference when you contact us that we can assist you more effectively.

Yours sincerely,

Jimmy

Case Handler DID: 6841 2928 FAX: 6741 4108

Email: jimmychen@lkkauto.com

c.c. AXA Insurance Pte Ltd (AXA) (Motor Claims Dept)

# AUTHORISATION TO ACT

VWe, Thong Yao Chan	10 Derrick("the third party claimant") of
30 STURPEE ROAD #25-06 S	ルテルテン (address),
owner of SKD 5414E (vehicle n	o.) hereby authorise HUA MENG SPRAY PAINTING
WORKSHOP ("the workshop") to	act for me with respect to my claim for repair costs and/or my vehicle no. <u>QKD S414 E</u> that was damaged pursuant 4.04.3019 (date) along <u>PIE Touds Tuas</u>
(Near Exit CTE) (loca	ion) involving vehicle no/s KE 3528P ("the accident").
I further authorize the workshop to se fit and the workshop is further authori with payment cheque/s being made in	tle my above mentioned claim in a manner that they deem zed to receive payment further to settlement of my claim favour of the workshop.
I further acknowledge that any settlen prejudice and without admission of lia vehicle/s is concerned.	ent the workshop may reach on my behalf is on a without billty basis insofar as the driver/owner/insurers of the other
Dated this	(month) 20 <u>19</u> (year)
toThere	基 明 肯 漆 版 HUA MENG SPRAY PAINTING WORKSHOP AUTOBAY BKAKI BUKIT 1 KAKI WAY AVE 8 401-34 SINGAPORE 417883 TEL: 8747 8084, 6745 5519 FAX: 6743 4896
Signed by "the third party claimant" (with company stamp if applicable)	Signed by "the workshop" (with company stamp)



Vehide No:

WITHOUT HELD IE TO OUR QUESTIA PERSONS INJURY CLASS (PRESENT OR FUTURE) WHICK IS EXPRESSLY RESERVED

#### AXA THIRD PARTY DIRECT SETTLEMENT

(Inset web)

XE 3528P

	VE 2050L	Titize settl		2 1		100
	SKD 5414E	(TP veh)	Model:	Torneta	Estima	-2367 (1
	24/04/2019	)		. 1.,	-01	
1:5			21,3	(23-12		
:\$				16,800.00		
:5			3.6		days at	\$ per day
:5				2,100.00	14 days at	\$ 150.00per day
:\$				7.45		
: \$						
:\$						
:5				18,907.45		
ing Worl	kshop					
rd?	] YES [	X) NO	(Kindly indic	ate below)		
d Works	hop:	Agreed	Liability	100(%	li .	
orkshop:		BOLAA	pplicable: Yes	/ No BOLA	A Scenario N	0:
(%)		Assesse	d Liability (*)		(%)	
be filled	only for chain co	llisions and f	or cases when	re BOLA dae	s not apply.	
	S   S   S   S   S   S   S   S   S   S	SKD 5414E	SKD 5414E (TP veh)   24/04/2019	SKD 5414E (TP veh)   Model:	SKD 5414E (TP veh)   Model: Trysth   24/04/2019   St.   16,800.00   St.   16,800.0	SKD 5414E (TP veh)   Model: Lypin Stima

#### NOTE:

- PLEASE EXPRESSLY RESERVE YOUR CLIENT'S RIGHTS IF SO REQUIRED IN THIS SETTLEMENT DOCUMENT.
- 2. THIS SETTLEMENT IS ON A WITHOUT PREJUDICE BASIS AND SHOULD NOT CONSTRUED AS AN ADMISSION OF LIABILITY ON AXA AND THEIR CLIENT/TORTFEASOR IN ANY MANNER WHATSOEVER.
- 3. AXA RESERVES THEIR RIGHTS UNDER THE POLICY TERMS & CONDITIONS AS WELL AS THEIR RIGHTS IN LAW.

Only applicable to rental claim - All document are to be submitted with this settlement confirmation. In the event, rental agreement / invoices are not received within 7 days of this signed confirmation, we will automatically revert to loss of use claim per the NIMA rates.

We/I confirmed that this is a full and final settlement that we and or our client have/had/has against you (AXA and their policyholder/authorised driver/tortfeasor) for any and all losses (past/present/future) arising from this accident.

We confirmed that we have the authority of our client to act for and on their behalf in this accident

I 斯 喷 漆 廠 HUA WENG SPRAY PAINTING WORKSHOP

Signature of workshop representative / Workshop stamp

Signature of Witness / Workshop stamp (if applicable)

Name of Representation BUTTE UP GIVING SPACE FORE 417 Mame of Witness:

Agnature of AXA's surveyor/representative:

Name of AXA's surveyor /Representative:

Date:





1, Kaki Bukit Avenue 6 Blk C #01-34/#01-61, Singapore 417883 Tel: 6747 8064, 6746 5519 Fax: 6743 4896 H/P: 9666 9680 Reg. No.: 254678/00M



Your Ref :

Our Ref :

27/5/2019

Date:

VEHICLE NO

MAKE / MODEL

NAME ADDRESS :SKD 5414 E

:TOYOTA ESTIMA

THONG YAOCHANG DERRICK

:30 STURDEE ROAD

#25-06 5 207852

FINAL REPAIR BILL FOR VEHICLE NO:SKD 5414 E

TO SUPPLY AND REPLACE PARTS, LABOUR CHARGES FOR REPAIRING, KNOCKING, WELDING AND TO RESPRAY PAINTING (LUMPSUM REPAIR)

\$ 16,800.00

SINGAPORE DOLLARS:SIXTEEN THOUSAND AND EIGHT HUNDRED ONLY

Hugmen

## FONG MOTORS CAR RENTAL

1 KAKI BUKIT AVENUE 6 #01-45 KAKI BUKIT, AUTOBAY SINGAPORE 417883 HP: 8182 0548 H/P: 9633 7504

UEN: 53371081B

VEHICLE RENTAL AGREEMENT HIRER'S PARTICULAR Vehicle Notation Replace Veh No: SKN 5414.6 Name: (as in 1/c) Thong Yao Chang Demick Mileage Out: NRIC/PASSPORT NO: S 8419043H Make & Model: 4000 Straw (Auto) Manual Address (Res): 30 Sturde Date Out: 14 Time: #75-06.5(267852) Name & Address of employer: HIRE / PERIOD EXPIRY Time: NON-WAIVER EXCESS =\$ Occupation: Driving Exp: CHARGES: D/L Type: Local / Int'l Driving License No:\_\_\_ Daily U @S 200 m Per day Issue Date:\_\_\_\_ Date of Birth: HP: 91601489 Tel: (O) \_\_\_\_\_(R)\_\_\_ Weekly @\$ Per week ADDITIONAL DRIVER'S PARTICULAR
Name: (as in I/C) Lang Ruxin Monthly @\$ Per month Hours @\$ Per hour NRIC/PASSPORT NO: 28400127E Address (Res): 30 Sturder Road Malaysia @S CDW @5 Per day/month Name & Address of employer: PAI @\$ Per day/month Delivery / Collection Services Occupation: \_\_\_\_\_ Driving Exp:\_ SUB - TOTAL \$ VEHICLE CHECK LIST: PETROL LEVEL Ē 1/4 Out F Out Ε 1/4 3/4 EXTENSION Misc. TOTAL CHARGES \$ Hirer's Signature: INDICATE: D - DENTS A - ACCIDENTS S - SCRATCHES Additional Driver's Signature: I have read and agree to the terms and conditions on both sides of the agreement. If I have presented a charge/credit card for payment, I agree that all amounts payable under this agreement and for parking and traffic infringements may be billed to that account and my signature above will be considered to have made on the charge/credit card. All information that I have given to FONG MOTORS CAR RENTAL in connection with this agreement is true

### \*IMPORTANT NOTES

- 1. ONLY PERSON ABOVE 22 YEARS OF AGE WITH MORE THAN 2 YEARS DRIVING EXPERIENCE, AUTHORISED, LICENSED AND SIGNING THIS AGREEMENT MAY DRIVE THE VEHICLE.
- 2. ALL PARKING AND TRAFFIC VIOLATIONS ARE THE RESPONSIBILITY OF THE HIRER. AN ADMINISTRATIVE CHARGE WILL BE LEVIED ON ANY TRAFFIC VIOLATIONS.
- 3. THE HIRER SHALL BE LIABLE FOR EXCESS CHARGES FOR ANY LATE RETURN AT THE RATE SHOWN PER HOUR OR PER DAY, INCLUSIVE OF COW AND/OR DAY WHERE APPLICABLE. 4. IN CASE OF ACCIDENT, THE HIRER SHALL REPORT TO RENTAL OFFICE IMMEDIATELY, IF THERE IS BODILY INJURIES. A POLICE REPORT MUST BE MADE WITHIN 24 HOURS.
- 5. VEHICLE IS STRICTLY FOR SINGAPORE USE DRILY AND MAY NOT BE DRIVEN OUT OF SINGAPORE INTHOUT PRIOR CONSENT OF THE COMPANY FONG MOTORS CAR RENTAL

RETURN OF VEHICLE. THE HIRER / DRIVER IS TO SIGN IN THE COLUMN "SIGNATURE OF HIRER / DRIVER" FAILING WHICH THE DAY AND TIME INSERTED BLIOW SHALL DEEMED TO BE THE DAY AND TIME THE VEHICLE IS RETURNED TO FONG MOTORS CAR BENTAL AND THE SAME SHALL BE ACCEPTED AS CONCLUSIVE EVIDENCE OF THE SAME AND SHALL NOT BE

DATE IN	TIME IN	MILEAGE	CHECKED BE CHECKED BY	CAR RENTAL COM COMMON
8 310	mos	7	(a) (a) (b)	SIGNATURE OF HIRER / DRIVER

# Fong Motors Car Rental

(53371081B)

1 Autobay@Kaki Bukit #01-45 Singapore 417883

Tel: 6748 5648

INVOICE

No.: FM-000344

C/O HUA MENG- THONG YAO CHANG

Your Ref.

30 STURDEE ROAD

Our D/O No. :

#25-06

Terms

SINGAPORE 207852

15 : C.O.D.

Date

: 14/05/2019

TEL: 91084489

FAX:

Page

: 1 of 1

Item Description		Qty	MON	U/ Price	Disc.	Total
				5\$		Ss
1. SMH12	2X (24/04/19- 08/05/19)	1	CAR	2,800.00		2,800.00

REPLACE VEHICLE NO. SKD5414E

REF AGREEMENT NO. 10268

SINGAPORE DOLLAR TWO THOUSAND EIGHT HUNDRED ONLY

Total 2,800.00

Notes:

 All cheques should be crossed and made payable to Fong Motors Car Rental

 Goods sold are neither returnable nor refundable. Otherwise a cancellation see of 20% on purchase price will be imposed.

**Authorised Signature** 

#### > Back to OneMotoring

Land Transport Authority

Land Transport Authority 10 Sin Ming Drive Singapore 575701 GST Registration No.: M4-0006529-2

Print Date/Time:

24 Apr 2019 / 16:40:32

Receipt Date/Time: 24 Apr 2019 / 16:40:32

### Tax Invoice/Receipt

Receipt No.: ITNET-00000-190424-002645

Previous Receipt No.:

Frevious Receipt No. ;				
S/N Item Description/ Business Transaction Reference No.		Amount Before GST (S\$)	GST Amount (S\$)	Amount After GST (S\$)
Result of Insurance Enquiry - XE3528P As at 24 Apr 2019/15:00:00 Insurance Co: AXA INSURANCE PTE LTD			1-0,	(44)
1 Insurance Enquiry - XE3528P Enquiry Fee 20190424163912458220		7.00	0.49	7.49
	Sub-Total	7.00	0.49	7,49
	Total Before Rounding	7.00	0.49	7.49
	Rounding Difference			0.04
	Total Amount Payable			7.45
	Paid By			
	20190424153923578	Direct Debit: eNE (Internet Banking		7.45
	Total	55	Ti	7,45
	Cash Change			0.00
	Tendered Amount			7.45
	Excess Refundable Amount			0.00

#### THANK YOU AND HAVE A NICE DAY!

Please ensure that all payments to the Authority are good and promptly settled by the payment service provider / financial institution. Otherwise, the transaction and receipt is considered void and late fee may apply.

Print Receipt

OK

Save as PDF



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to	Federation Internationale Des Experts En Automobile
---------------	---

AXA INSURANCE PTE LTD

Ref:

CC4/ASM19007358/Awa3q2

8 SHENTON WAY #24-01

Date: 12-09-2019

XXA TOWERSINGAP ATTN:KIAN CHUAN	ORE 068811	Code: ASM	
1	Policy Particul	ars :- THIRD PARTY CLAIM	
Insured Veh.	XE 3528P	Veh. Inspected	SKD 5414E
Policy No.	GA274322	Coverage (\$)	0.00
Claim No.	S9M01LDB	Excess (\$)	0.00
Assign From		Assign Date	25/04/2019
2.	Vehicle P	articulars & Condition	1 - No. 10 - 10 - 10 - 10 - 10 - 10 - 10 - 10
Make & Model	TOYOTA ESTIMA	c.c	2362
Engine No.	HIDDEN	Year of Reg.	2011
Chassis No.	ACR500131424	Colour	WHITE
Odometer	123738	Steering	IN ORDER
Brakes	IN ORDER	Modification	SPORTS RIM
General	GOOD		
3.	Cor	nditions of Tyres	
	Size	Make	Balance
R/H Front Tyre	235/50 R18	BRIDGESTONE	6 mm
L/H Front Tyre	235/50 R18	BRIDGESTONE	6 mm
R/H Rear Tyre	235/50 R18	BRIDGESTONE	6 mm
L/H Rear Tyre	235/50 R18	BRIDGESTONE	6 mm
4.	Descr	ription of Damages	
THE VEHICLE SU	STAINED DAMAGES AT THE	REAR PORTION.	
DAMAGES SEE D	DETAILS.		
5.	Ger	neral Information	
Accident Date	24/04/2019	Inspection Date	26/04/2019
Survey held at	HUA MENG SPRAY PAINT	ING WKSP	7
	1 KAKI BUKIT AVE 6 #01-61 AUTOBAY SINGAPORE 417883	7	~
5a.		Remarks	
A)THE INSPECTI B)IN ACCORDAN	ON WAS CONDUCTED ON A CE TO YOUR INSTRUCTION	"WITHOUT PREJUDICE" BASIS S, WE HAVE NOT AUTHORISE	S. ED REPAIRS.
5b.	Estim	nate Days of Repair	
ESTIMATED NOR	RMAL PERIOD FOR REPAIR:	13 Working Day	's



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SKD 5414E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
-1	REAR WINDSCREEN RUBBER (CONSISTENT)	NECESSARY	120.70	120.70
1	REAR TAILGATE (CONSISTENT)	DISTORTED	1,908.40	1,594.00
2	REAR TAILGATE HINGES @\$72.90(CONSISTENT)	NOT NECESSARY	145.80	
2	REAR TAILGATE SHOCK ABSORBER @\$332.60 (CONSISTENT)	BENT	665.20	665.20
1	REAR TAILGATE UPPER LOCK (CONSISTENT)	DAMAGED	477.40	477.40
1	REAR TAILGATE LOWER LOCK (CONSISTENT)	BENT	46.60	46.60
1	REAR TAILGATE INNER BOARD (CONSISTENT)	DEFORMED	629.50	629.50
- 1	REAR TAILGATE INNER HANDLE (CONSISTENT)	NOT NECESSARY	23.90	
1	REAR TAILGATE CENTRE REFLECTOR (CONSISTE	ENT) CRACKED	236.60	236.60
2	REAR TAILGATE SIDE REFLECTOR @\$236.70 (CONSISTENT)	CRACKED	473.40	473.40
1	REAR TAILGATE CENTRE LOGO (CONSISTENT)	NECESSARY	88.00	88.00
- 1	REAR TAILGATE HANDLE (CONSISTENT)	CRACKED	206.20	206.20
1	REAR TAILGATE ESTIMA EMBLEM (CONSISTENT)	NECESSARY	58.20	58.20
1	REAR TAILGATE AREAS EMBLEM (CONSISTENT)	NECESSARY	68.00	68.00
1	REAR TAILGATE WEATHER STRIP (CONSISTENT)	CUT	429.90	299.00
1	REAR TAILGATE WIPER MOTOR (CONSISTENT)	DAMAGED	780.00	614.80
- 1	REAR END PANEL (CONSISTENT)	DISTORTED	825.60	691.70
1	REAR END PANEL INNER TOP GARNISH (CONSIST	TENT) DEFORMED	343.80	343.80
1	REAR END PANEL LOWER GARNISH (CONSISTEN	T) DEFORMED	232.60	232.60
1	REAR BUMPER (CONSISTENT)	DISTORTED	715.10	715.10
2	REAR BUMPER SIDE HOLDER @\$68.50 (CONSISTE	ENT) NECESSARY	137.00	137.00
_2	REAR BUMPER REFLECTOR @\$69.00 (CONSISTEN	NT) CRACKED	138.00	138.00
_ 2	REAR BUMPER TOWING HOOK COVER @\$24.00 (CONSISTENT)	O/S DEFORMED	48.00	24.00
1	SET REAR BUMPER CLIPS (CONSISTENT)	NECESSARY	70.00	30.00
2	REAR BUMPER INNER SPONGE @\$84.20 (CONSIS	TENT) CRACKED	168.40	168.40
11	REAR TAILGATE CENTRE LOCK SENSOR (CONSIS	TENT) DAMAGED	176.00	176.00
1	REAR SPARE TYRE TOP BOARD (CONSISTENT)	NOT NECESSARY	1,299.40	8
1	REAR SPARE TYRE WELL (CONSISTENT)	TO REPAIR SEE LABOUR	967.10	

Report Ref No. CC4/ASM19007358/Awa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Description of Parts Condition Estin		Our Adjusted (\$)	
1	REAR SPARE TYRE WELL INSULATION (CONSISTENT)	NOT NECESSARY	272.20	1	
1	REAR SPARE TYRE TRIM (CONSISTENT)	TORN	485.90	485.90	
2	REAR FENDER @\$1026.00 (CONSISTENT)	BUCKLED	2,052.00	2,052.0	
2	REAR FENDER INNER GARNISH @\$840.00 (CONSISTENT)	DEFORMED	1,680.00	1,486.00	
2	REAR LAMP @\$393.60 (CONSISTENT)	CRACKED	787.20	787.20	
2	REAR LAMP HOUSING @\$340.00 (CONSISTENT)	DENTED	680.00	556.0	
1	REAR FENDER INNER SHIELD (CONSISTENT)	TORN	216.00	216.0	
1	REAR RH FENDER QUARTER GLASS (CONSISTENT)	SHATTERED	1,068.00	696.0	
1	REAR EXHAUST PIPE (CONSISTENT)	TO REPAIR SEE LABOUR	1,440.00		
1	REAR EXHAUST PIPE MOUNTING (CONSISTENT)	NOT NECESSARY	54.00		
2	REAR SEAR BRACKET @\$114.00 (CONSISTENT)	BENT	228.00	228.0	
2	REAR SEAT BRACKET TOP GARNISH @\$102.00 (CONSISTENT)	NOT NECESSARY	204.00		
1	REAR SEAT REAR GARNISH (CONSISTENT)	DEFORMED	162.00	162.0	
1	REAR RH SAFETY BELT (CONSISTENT)	DAMAGED	1,107.20	680.8	
1	REAR AIR CON BLOWER (CONSISTENT)	CRACKED	3,972.00	2,862.0	
1	REAR AIR CON HOSE (CONSISTENT)	DEFORMED	225.60	225.6	
1	REAR RH INNER FENDER (CONSISTENT)	TO REPAIR SEE LABOUR	819.60		
1	REAR RH CHASSIS FRAME (CONSISTENT)	TO REPAIR SEE LABOUR	2,136.00		
2	REAR TAILGATE TOP SIDE RUBBER @\$78.00 (CONSISTENT)	NOT NECESSARY	156.00	8	
2	REAR TAILGATE SIDE TOP STOPPER @\$66.00 (CONSISTENT)	NOT NECESSARY	132.00		
2	REAR TAILGATE LOWER SIDE STOPPER @\$66.00 (CONSISTENT)	NOT NECESSARY	132.00		
2	ROOF TOP MOULDING @\$259.90 (CONSISTENT)	NOT NECESSARY	519.80		
2	REAR WINDSCREEN @\$1324.50 (CONSISTENT)	SHATTERED	2,649.00	1,324.2	
2	REAR INNER FENDER TOP SIDE GARNISH @\$275.00 (CONSISTENT)	NOT NECESSARY	550.00		
2	REAR TAILGATE INNER SIDE GARNISH @\$825.00 (CONSISTENT)	сит	1,650.00	424.4	
1	REAR TAILGATE INNER CENTRE GARNISH (CONSISTENT)	NOT NECESSARY	302.50		

Report Ref No. CC4/ASM19007358/Awa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR TAILGATE THIRD BRAKE LAMP (CONSISTENT)	NOT NECESSARY	258.50	-
	LESS 25% DISCOUNT		-8,854.58	-5,105.08
	and a special part of a separate sea		26,563.72	15,315.22
	SPECIAL NETT ITEMS			
-1	REAR TAILGATE CAMERA (SN) (CONSISTENT)	DAMAGED	800.00	380.00
1	REAR BUMPER REVERSE SENSOR (SN) (CONSISTENT)	DAMAGED	760.00	350.00
1	REAR NUMBER PLATE (SN) (CONSISTENT)	BENT	50.00	30.00
-1	REAR NUMBER PLATE HOLDER (SN) (CONSISTENT)	DEFORMED	50.00	30.00
	W 25250 D		1,660.00	790.00
	LABOUR			
	TOWING FEE.		150.00	120.00
	TO SUPPLY REAR END PANEL INNER SEALANT.		50.00	50.00
	TO SUPPLY REAR WINDSCREEN SEALANT.		200.00	60.00
	REMOVE & REINSTALL REAR WINDSCREEN & QUARTER GLASS.		500.00	240.00
	REMOVE & REINSTALL ROOF LINING & CUSHION.		400.00	300.00
	REMOVE & REINSTALL REVERSE SENSOR.		250.00	60.00
	REMOVE & REINSTALL CAMERA.		100.00	50.00
	REMOVE & REINSTALL PETROL TANK.		150.00	80.00
	REMOVE & REINSTALL AIR CON FILL IN GAS.		200.00	120.00
	REMOVE & REINSTALL SAFETY BELT.		100.00	100.00
	REMOVE & REINSTALL EXHAUST PIPE.	NOT NECESSARY	200.00	-
	REMOVE, REPLACE & REPAIR CONSISTENT TO THE ACCIDENT .INCLUSIVE OF THE REPAIR OF REAR SPARE TYRE WELL, REAR EXHAUST PIPE, REAR RH INNER FENDER AND REAR RH CHASSIS FRAME.		4,000.00	2,000.00
	RESPRAY PAINTING.		2,500.00	1,600.00
	TUFF KOTE.		150.00	150.00
	TO RESET.	NOT NECESSARY	150.00	- 4
			9,100.00	4,930.00
7	GRAND TOTAL		37,323.72	21,035.22

RECOMMENDED COST OF LUMP SUM REPAIRS	16,800.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CC4/ASM19007358/Awa3q2





Report Ref No. CC4/ASM19007358/Awa3q2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tert, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.

\*

CLAIMS

Service Request Details

Vehicle Information Incident Vehicle Registration # Make Walt for: Approve invoice Add Invent Next Step Actions

CC4/ASM19007358/Awa3q2

Reference

S9M01LDB

25 Apr 2019 10:00:00 AM

Report Date

30 May 2019

Request Date

Due Date

24 April 2019

Loss Date

NAVONORNO GVYT

Model

SKD5414E

Primary Contact/Insured Service Address

LIKK AUTO CONSULTANTS PTE

Windor Name

(TD (TP)

Third Party Vehicle Damage

Type of Loss

Pre-Repair Survey

Services

CHUAN LIM CONSTRUCTION PTE LTD 20 SENOKO DRIVE, 758207, Singsport

INSURANCE ESCOREDITICOMISG Claim Handler

hrm.khong@axa.com.tg KHONG Lynn 68804892

Additional Instructions

Assessment Documents Document Sublype History invoices Document Type Messages

Notes

Metrics

+ Uppart Documents

LKX AUTO

Merimon

Reports & Statement

Accident Statement

NAME

2

DATE

AUTHOR

SUB-TYPE

THE

https://xp.smartclaims.axa.com.sg/claim-portal/html/index-vendor-service-requests.html#/service-requests/?serviceRequestNumber=112697&tab=invoices

I LTA SEARCH pdf  LIA SEARCH pdf  LIA SEARCH pdf  LIA SEARCH pdf  LIA SEARCH pdf  Forms / Claim Documents  LIA SEARCH pdf  Forms / Claim Documents  LIA SEARCH BREAKDOWN, EXPRESS SETTLEMENT  Forms / Claim Documents  Forms / Claim Documents  Forms / Claim Documents  FORM pdf  Forms / Claim Documents  FORM pdf  Forms / Claim Documents	th Others Others Others Others	UNIX AUTO CONSULTANTS PTE LTD (TP) UNIX AUTO CONSULTANTS PTE LTD (TP) LINK AUTO CONSULTANTS PTE LTD (TP) LINK AUTO CONSULTANTS PTE CONSULTANTS PTE	13 September 2019 13 September 2019 13 September 2019
		LISK AUTO CONSULTANTS PTE LICH AUTO CONSULTANTS PTE LICH AUTO CONSULTANTS PTE CONSULTANTS PTE CONSULTANTS PTE	13 September 2019 13 5eptember 2019 13 5eptember 5eptember 5eptember
		LICK AUTO CONSULTANTS PTE LTD (TP) LICK AUTO CONSULTANTS PTE	13 Segtember 2019 13 September
		LICK AUTO CONSULTANTS PTE	13 September
PAYMENT BREAKDOWN, EXPRESS SETTLEMENT FORMS / Chim Documer FORM pdf	Satisfaction /	(TD (TP)	2019
	th Discharge Voucher	LKK AUTO CONSULTANTS FTE LTD (TP)	13 September 2019
AUTHORISATION TO ACT FORMadf	POA/ Authority Letter	LXK AUTO CONSULTANTS PTE LTD (19)	13 September 2019
WORKSHOP INVOICE pell	Repaires	LICK AUTO CONSULTANTS PTE LTD (TP)	13 September 2019
TP MANUCATE IA: SKID S414E.pdf	Others	LIGICAUTO CONSULTANTS PTE LTD (TP)	18 July 2019
Lick Peinspection Photos.pdf Reperts & Statement	Others	USK AUTO CONSULTANTS PTE LTD (TP)	18.hay 2019
MARKED ESTANATE, add	Others	UKK AUTO CONGULTANTS PTE LTD (TP)	18 July 2019

Claim Portal

secie
=invo
778tat
=11269
umber
nestN
ted
erviceR
sts/7si
anbej
envice-
ml#/se
sts.ht
enbeu-
ervice
dor-s
9X-Ver
nVind
ortal/htt
Haim-p
sg/ct
ca.com.
æ
claims
smartch
JAP
20

LICK ALITO PRE WIRAY SURGOTE COPPEDITORY LID (TP)	Others CONSULTANTS PTE 2019 LTD (TP)	Others COMBULTANTS PTE 18 July (LTD (TP)	Policy Holders / LIOC AUTO 27 June Insured LTD (TP) 2019	VARIONS CONSULTANTS PTE 29 May LTD (TP)	GIA Report 2 May 2019 LTD (TP)	Assessment CONSULTANTS PTE 2019 LTD (TP)	Workshop Shelthar 25 April 5019	Warhshop Shekkar 2019	Surveyor / VISANU BATHAM 25 April Assessor Sheldur 2019	VISHNU BATHAM 25 April
RESerts & Statement	Reports & Statement	Reports & Statement	Letters and Correspondence	Evidence	Reports & Statement	Forms / Claim Documents	Letters and Correspondence	ketters and Correspondence	Letters and Correspondence	Head to consequence and the second second
**C6s.adf	Ramatah Ramachamfran - SG Driving Licence 2022 pdf	LADK impection Photos.pdf	Letter to Olipdf	TP Video 2019-05-29 at 8.11 mp4	TP GA REPORT put	Manth	LIST OF SURVEYOR SENT mig	EMAM, TP PRI mig	SURVEYOR APPOINTED mid	Service appointment in Vendor Portal claim

Claim Portal